																		Prepared by:				-	
Entering Term/	Cohort	Degree ir		Return 2		Degree in		Return 3	rd Yr	Degree in		Return 4	th Yr	Degree in		Return 5	th Yr	Degree in	5 Yrs	Return 6	th Yr	Degree ir	16Yrs
Program	Total	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Fall 1998																							
EdD in Educational Leadership	8	0	.0	7	87.5	0	.0	5	62.5	0	.0	5	62.5	0	.0	4	50.0	1	12.5	5	62.5	2	25.0
MSEd in Counseling	17	0	.0	13	76.5	1	5.9	7	41.2	10	58.8	2	11.8	12	70.6	0	.0	12	70.6	1	5.9	12	70.6
MSEd in Educational Administration	16	0	.0	8	50.0	0	.0	5	31.3	2	12.5	5	31.3	6	37.5	1	6.3	6	37.5	2	12.5	7	43.8
MSEd in Special Education	16	1	6.3	10	62.5	3	18.8	9	56.3	4	25.0	6	37.5	10	62.5	1	6.3	11	68.8	1	6.3	13	81.3
MSEd in Teacher Education	44	1	2.3	23	52.3	7	15.9	14	31.8	18	40.9	7	15.9	25	56.8	6	13.6	27	61.4	1	2.3	29	65.9
Fall 1998	101	2	2.0	61	60.4	11	10.9	40	39.6	34	33.7	25	24.8	53	52.5	12	11.9	57	56.4	10	9.9	63	62.4
Fall 1999																							
EdD in Educational Leadership	5	1	20.0	4	80.0	1	20.0	4	80.0	1	20.0	3	60.0	1	20.0	4	80.0	1	20.0	1	20.0	1	20.0
MSEd in Counseling	17	0	.0	13	76.5	3	17.6	10	58.8	7	41.2	4	23.5	10	58.8	2	11.8	11	64.7	1	5.9	11	64.7
MSEd in Educational Administration	19	2	10.5	11	57.9	2	10.5	12	63.2	12	63.2	0	.0	14	73.7	0	.0	14	73.7	0	.0	14	73.7
MSEd in Special Education	7	0	.0	5	71.4	0	.0	3	42.9	2	28.6	4	57.1	4	57.1	1	14.3	5	71.4	0	.0	6	85.7
MSEd in Teacher Education	47	0	.0	30	63.8	5	10.6	23	48.9	23	48.9	5	10.6	28	59.6	6	12.8	32	68.1	2	4.3	34	72.3
Fall 1999	95	3	3.2	63	66.3	11	11.6	52	54.7	45	47.4	16	16.8	57	60.0	13	13.7	63	66.3	4	4.2	66	69.5
Fall 2000																							
EdD in Educational Leadership	2	0	.0	2	100.0	0	.0	2	100.0	1	50.0	1	50.0	2	100.0	0	.0	2	100.0	0	.0	2	100.0
MSEd in Counseling	14	0	.0	9	64.3	2	14.3	6	42.9	5	35.7	3	21.4	7	50.0	3	21.4	8	57.1	2	14.3	10	71.4
MSEd in Educational Administration	18	0	.0	14	77.8	2	11.1	11	61.1	8	44.4	5	27.8	12	66.7	0	.0	13	72.2	0	.0	13	72.2
MSEd in Special Education	15	0	.0	8	53.3	0	.0	6	40.0	2	13.3	6	40.0	4	26.7	3	20.0	5	33.3	2	13.3	7	46.7
MSEd in Teacher Education	33	0	.0	23	69.7	9	27.3	6	18.2	16	48.5	3	9.1	17	51.5	4	12.1	19	57.6	5	15.2	21	63.6
Fall 2000	82	0	.0	56	68.3	13	15.9	31	37.8	32	39.0	18	22.0	42	51.2	10	12.2	47	57.3	9	11.0	53	64.6
Fall 2001																							
EdD in Educational Leadership	1	0	.0	0	.0	0	.0	1	100.0	0	.0	0	.0	0	.0	0	.0	0	.0	0	.0	0	.0
MSEd in Counseling	22	0	.0	17	77.3	1	4.5	10	45.5	8	36.4	3	13.6	11	50.0	2	9.1	13	59.1	1	4.5	13	59.1
MSEd in Educational Administration	18	0	.0	10	55.6	2	11.1	5	27.8	4	22.2	5	27.8	7	38.9	2	11.1	8	44.4	2	11.1	10	55.6
MSEd in Special Education	10	0	.0	7	70.0	0	.0	5	50.0	2	20.0	2	20.0	4	40.0	0	.0	4	40.0	0	.0	4	40.0
MSEd in Teacher Education	33	0	.0	20	60.6	6	18.2	11	33.3	9	27.3	5	15.2	16	48.5	1	3.0	19	57.6	0	.0	19	57.6
Fall 2001	84	0	.0	54	64.3	9	10.7	32	38.1	23	27.4	15	17.9	38	45.2	5	6.0	44	52.4	3	3.6	46	54.8
	-																						
Fall 2002																							
EdD in Educational Leadership	2	0	.0	2	100.0	0	.0	1	50.0	0	.0	2	100.0	0	.0	2	100.0	0	.0	1	50.0	0	.0
MSEd in Counseling	27	0	.0	20	74.1	8	29.6	14	51.9	16	59.3	4	14.8	18	66.7	4	14.8	20	74.1	2	7.4	21	77.8
MSEd in Educational Administration	18	0	.0	12	66.7	3	16.7	6	33.3	9	50.0	0	.0	10	55.6	1	5.6	11	61.1	2	11.1	11	61.1
MSEd in Special Education	6	0	.0	3	50.0	1	16.7	2	33.3	2	33.3	0	.0	3	50.0	0	.0	3	50.0	0	.0	3	50.0
MSEd in Teacher Education	38	0	.0	20	52.6	6	15.8	11	28.9	11	28.9	4	10.5	18	47.4	2	5.3	21	55.3	1	2.6	21	55.3
Fall 2002	91	0	.0		62.6	18	19.8	34	37.4	38	41.8	10	11.0	49	53.8	9	9.9	55	60.4	6	6.6	56	61.5

Prepared by: Becky Geltz, Institutional Research & Analytics - 12/13/2017

																		Prepared by:				-	
Entering Term/	Cohort	Degree in		Return 2	2nd Yr	Degree in	2 Yrs	Return 3	3rd Yr	Degree in	3 Yrs	Return 4	th Yr	Degree in		Return 5	oth Yr	Degree in	5 Yrs	Return 6	th Yr	Degree in	6 Yrs
Program	Total	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Fall 2003																							
MSEd in Counseling	19	0	.0	15	78.9	1	5.3	13	68.4	8	42.1	4	21.1	12	63.2	2	10.5	13	68.4	1	5.3	13	68.4
MSEd in Educational Administration	13	0	.0	7	53.8	2	15.4	5	38.5	6	46.2	1	7.7	8	61.5	1	7.7	8	61.5	0	.0	8	61.5
MSEd in Special Education	4	0	.0	3	75.0	1	25.0	1	25.0	1	25.0	2	50.0	1	25.0	1	25.0	3	75.0	0	.0	3	75.0
MSEd in Teacher Education	25	0	.0	15	60.0	7	28.0	4	16.0	12	48.0	1	4.0	13	52.0	3	12.0	13	52.0	0	.0	14	56.0
Fall 2003	61	0	.0	40	65.6	11	18.0	23	37.7	27	44.3	8	13.1	34	55.7	7	11.5	37	60.7	1	1.6	38	62.3
Fall 2004																							
EdD in Educational Leadership	4	0	.0	4	100.0	0	.0	4	100.0	0	.0	3	75.0	0	.0	3	75.0	0	.0	2	50.0	0	.0
MSEd in Counseling	29	0	.0	25	86.2	4	13.8	18	62.1	17	58.6	4	13.8	21	72.4	0	.0	23	79.3	0	.0	23	79.3
MSEd in Educational Administration	17	0	.0	7	41.2	2	11.8	4	23.5	6	35.3	2	11.8	6	35.3	1	5.9	7	41.2	1	5.9	8	47.1
MSEd in Special Education	13	0	.0	6	46.2	0	.0	5	38.5	2	15.4	4	30.8	5	38.5	2	15.4	8	61.5	1	7.7	8	61.5
MSEd in Teacher Education	41	0	.0	25	61.0	3	7.3	12	29.3	18	43.9	8	19.5	24	58.5	5	12.2	28	68.3	4	9.8	30	73.2
Fall 2004	104	0	.0	67	64.4	9	8.7	43	41.3	43	41.3	21	20.2	56	53.8	11	10.6	66	63.5	8	7.7	69	66.3
Fall 2005																							
EdD in Educational Leadership	3	0	.0	3	100.0	0	.0	2	66.7	0	.0	0	.0	1	33.3	0	.0	1	33.3	0	.0	1	33.3
MSEd in Counseling	33	0	.0	31	93.9	3	9.1	19	57.6	17	51.5	7	21.2	26	78.8	0	.0	26	78.8	1	3.0	27	81.8
MSEd in Educational Administration	7	0	.0	4	57.1	1	14.3	2	28.6	2	28.6	2	28.6	3	42.9	1	14.3	3	42.9	0	.0	3	42.9
MSEd in Special Education	11	1	9.1	6	54.5	3	27.3	5	45.5	6	54.5	1	9.1	7	63.6	0	.0	8	72.7	0	.0	8	72.7
MSEd in Teacher Education	22	0	.0	13	59.1	7	31.8	3	13.6	11	50.0	3	13.6	13	59.1	1	4.5	14	63.6	2	9.1	15	68.2
Fall 2005	76	1	1.3	57	75.0	14	18.4	31	40.8	36	47.4	13	17.1	50	65.8	2	2.6	52	68.4	3	3.9	54	71.1
	-																						
Fall 2006																							
MSEd in Counseling	31	0	.0	27	87.1	0	.0	18	58.1	18	58.1	6	19.4	23	74.2	4	12.9	25	80.6	1	3.2	26	83.9
MSEd in Educational Administration	7	0	.0	7	100.0	1	14.3	4	57.1	5	71.4	2	28.6	6	85.7	0	.0	6	85.7	1	14.3	6	85.7
MSEd in Special Education	8	0	.0	7	87.5	2	25.0	4	50.0	4	50.0	1	12.5	6	75.0	2	25.0	7	87.5	0	.0	7	87.5
MSEd in Teacher Education	19	0	.0	12	63.2	0	.0	6	31.6	10	52.6	2	10.5	12	63.2	0	.0	12	63.2	0	.0	12	63.2
Fall 2006	65	0	.0	53	81.5	3	4.6	32	49.2	37	56.9	11	16.9	47	72.3	6	9.2	50	76.9	2	3.1	51	78.5
Fall 2007																							
EdD in Educational Leadership	1	0	.0	1	100.0	0	.0	1	100.0	0	.0	1	100.0	0	.0	1	100.0	0	.0	1	100.0	0	.0
MSEd in Counseling	18	0	.0	13	72.2	0	.0	7	38.9	8	44.4	4	22.2	12	66.7	1	5.6	12	66.7	1	5.6	12	66.7
MSEd in Educational Administration	10	0	.0	8	80.0	1	10.0	5	50.0	6	60.0	1	10.0	7	70.0	0	.0	7	70.0	0	.0	7	70.0
MSEd in Special Education	14	0	.0	9	64.3	4	28.6	4	28.6	8	57.1	1	7.1	10	71.4	1	7.1	10	71.4	1	7.1	10	71.4
MSEd in Teacher Education	28	0	.0	18	64.3	11	39.3	2	7.1	17	60.7	2	7.1	17	60.7	0	.0	19	67.9	0	.0	19	67.9
Fall 2007	71	0	.0	49	69.0	16	22.5	19	26.8	39	54.9	9	12.7	46	64.8	3	4.2	48	67.6	3	4.2	48	67.6

... Deales Calta Institutional De

Entering Term/ Cohor Degree in 1 Yr. Return 3 Yr. Degree in 3 Yr.s Return 3 Yr. Degree in 4 Yr.s Return 3 Yr.s																			Prepared by:		z, Institutional	Research	& Analytics - 12	2/13/2017
Fail 2008	Entering Term/		Degree i	n 1 Yr	Return 2	2nd Yr	Degree in	n 2 Yrs	Return 3	Brd Yr	Degree in	a 3 Yrs	Return 4	th Yr	Degree in		Return 5	th Yr	Degree in	5 Yrs	Return 6	th Yr	Degree ir	6 Yrs
EdD in Educational Leadership 16 0 0 14 93.3 0 0 9 60.0 1 6.7 6 40.0 1 4 26.7 2 13.3 68.4 0.0 13 68.4 0.0 13 68.4 0.0 13 68.4 0.0 13 68.4 0.0 13 68.4 0.0 13 68.4 0.0 13 68.4 0.0 13 68.4 0.0 13 68.4 0.0 13 68.4 0.0 13 68.4 0.0 13 68.4 0.0 13 68.4 0.0 13 68.4 0.0 13 77.4 13 46.4 0.0 14 57.0 0.0 0 37.50 13 68.4 0.0 13 68.4 0.0 13 68.4 0.0 13 68.4 0.0 14 13 68.4 13 68.4 13 68.4 13 68.4 13 68.4 13 68.4 13 68.4 13 68.4 13 68.4 13 68.4		Total	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
MSEd in Counseling 19 0 0 16 84.2 0 0.0 10 52.6 12 63.2 2 10.5 13 68.4 0 0.0 13 68.4 MSEd in Educational Administration 7 0 0.0 3 75.0 0 0.0 3 75.0 0 0.0 3 75.0 0 13 68.4 2 10.5 3 75.0 0 0.0 3 75.0 0 0.0 14 14.3 11 13.3 68.4 0 0 13 68.4 0 0.0 14 43.3 17.4 0 0 13 75.0 0 0.0 13 68.4 0 0.0 13 68.4 0 0.0 13 68.4 13 68.4 0 0.0 13 68.4 0 0.0 13 68.4 0 0.0 13 68.4 0 0.0 13 68.4 0 0.0 13 68.4 0 0.0 13 58.6 13 58.6 10																								
MSE di n Educational Administration 7 0 0 6 87,70 0 0 2 28,60 1 14,3 14,3 1			0	.0			0						-		1		-		4			13.3	7	
MSE in Special Education 4 0 0 3 75.0 0 0 3 75.0 1 2 50.0 1 2 50.0 1 2 50.0 1 3 75.0 0 0 3 75.0 0 0 3 75.0 0 0 3 75.0 0 0 3 75.0 13 34 46.4 0 0 1 35.0 1 13 34 46.6 8 10 3 3 75.0 0 0 1 36.6 15 57.8 13 34 46.6 8 10 37 0 0 1 36.6 1 10 37 0 0 1 36.6 1 37 1 37 1 37 1 37 0 0 1 25.0 2 50.0 1 30.6 0 0 1 25.0 1 33 2 0 0 1 25.0 1 33.7 1 33.7 1 33.7 1 33.7 <td></td> <td>19</td> <td>0</td> <td>.0</td> <td>16</td> <td></td> <td>0</td> <td>.0</td> <td>10</td> <td></td> <td>12</td> <td></td> <td>2</td> <td></td> <td>13</td> <td></td> <td>2</td> <td></td> <td>13</td> <td></td> <td>0</td> <td>.0</td> <td>13</td> <td></td>		19	0	.0	16		0	.0	10		12		2		13		2		13		0	.0	13	
MSEd in Teacher Education 28 0 0 15 53.6 6 21.4 4 14.3 11 39.3 2 7.1 13 46.4 0 0 14 50.0 1 3.6 15 53.6 Fail 2009 73 0 0 54 74.0 6 8.2 28 38.4 25 34.2 13 16.4 0 0 14 50.0 1 3.6 15 55.6 Fail 2009 70 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 0 1 33.3 0 0 0 17 89.5 0 0 0 13 46.6 20.0 13 33.3 0 0 0 14 56.0 2		7	0	.0	6		0	.0	2		1		1		5		0	.0	5		1	14.3	5	
Fail 2008 73 0 54 74.0 6 8.2 28 38.4 25 34.2 13 17.8 34 46.6 8 11.0 39 53.4 4 5.5 43 58.9 Fail 2009 EdD in Educational Leadership 3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 0 1 33.3 0 0 0 1 33.3 0 0 0 25 92.6 0 0 25 92.6 0 0 2 92.6 0 0 2 40.0 1 20.0 1 20.0 1 20.0 1 20.0 1 20.0 1 20.0 1 20.0 1 40.0 2 40.0 2 40.0 2		•	0	.0			0		3		1		2	50.0	2		0	.0	3		0	-	3	
Fail 2009 Constrained Constrained <thconstrained< th=""> <thconstrained< th=""> <</thconstrained<></thconstrained<>			0	.0			6		4								0	.0			1			
EdD in Educational Leadership 3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 0 1 33.3 0 0 0 1 33.3 0 0 0 1 33.3 0 0 0 1 33.3 0 0 0 1 33.3 0 0 0 1 13.3 0 0 0 1 13.3 <td>Fall 2008</td> <td>73</td> <td>0</td> <td>.0</td> <td>54</td> <td>74.0</td> <td>6</td> <td>8.2</td> <td>28</td> <td>38.4</td> <td>25</td> <td>34.2</td> <td>13</td> <td>17.8</td> <td>34</td> <td>46.6</td> <td>8</td> <td>11.0</td> <td>39</td> <td>53.4</td> <td>4</td> <td>5.5</td> <td>43</td> <td>58.9</td>	Fall 2008	73	0	.0	54	74.0	6	8.2	28	38.4	25	34.2	13	17.8	34	46.6	8	11.0	39	53.4	4	5.5	43	58.9
EdD in Educational Leadership 3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 1 33.3 0 0 0 1 33.3 0 0 0 1 33.3 0 0 0 1 33.3 0 0 0 1 33.3 0 0 0 1 13.3 0 0 0 0 1 13.3 0 0 0 1	Fall 2009																							
MSEd in Counseling 27 0 .0 26 96.3 10 37.0 8 29.6 11 77.8 1 3.7 24 88.9 0 .0 17 89.5 0 .0 17 89.5 0 .0 17 89.5 0 .0 17 89.5 0 .0 17 89.5 0 .0 17 89.5 0 .0 17 89.5 0 .0 17 89.5 0 .0 17 89.5 0 .0 17 89.5 0 .0 17 89.5 0 .0 17 89.5 0 .0 17 89.5 0 .0 17 89.5 0 .0 17 89.5 0 .0 17 89.5 0 .0 1 40.0 14 50.0 1 12.0 1 20.0 1 20.5 15 73.4 3 33.8 6 75.0 1 4 50.0 2 55.0 14 50.0 15.5 55.5 50.0 15.5		3	0	.0	1	33.3	0	.0	1	33.3	0	.0	0	.0	0	.0	1	33.3	0	.0	1	33.3	0	.0
MSEd in Educational Administration 19 0 0 17 89.5 0 0 17 89.5 0 0 17 89.5 0 0 17 89.5 0 0 17 89.5 0 0 17 89.5 0 0 17 89.5 0 0 17 89.5 0 0 17 89.5 0 0 17 89.5 0 0 17 89.5 0 0 17 89.5 0 0 17 89.5 0 0 17 89.5 0 0 17 89.5 0 0 17 89.5 0 0 17 89.5 0 0 17 89.5 0 0 16 64.00 13 52.0 1 40.0 14 56.0 2 13 52.0 1 40.0 12.5 14 56 69.6 2 25.0 14 56 67.5 1 45.0 1 12.5 1 26 67.5 2 5.9 1 28.5 7<	•	-	0						8		-		1		-		0				0		25	92.6
MSEd in Special Education 5 0 .0 3 60.0 1 4.0 14 56.0 9 36.0 5 20.0 1 4.0 14 56.0 2 20.0 1 4.0 14 56.0 2 20.0 1 4.0 14 56.0 2 20.0 1 4.0 4.0 14 56.0 2 25.0 4 50.0 2 25.0 4 50.0 1 12.5 5 62.5 28.8 14.18 10 9 75.0 1 12.5 12.5 5 62.5 28.6 2 5.0 1 12.5 12.5 12.5 12.5 12.5 </td <td></td> <td></td> <td>0</td> <td>.0</td> <td></td> <td></td> <td></td> <td></td> <td>7</td> <td></td> <td></td> <td></td> <td>1</td> <td></td> <td></td> <td></td> <td>0</td> <td>.0</td> <td></td> <td></td> <td>-</td> <td>.0</td> <td></td> <td></td>			0	.0					7				1				0	.0			-	.0		
MSEd in Teacher Education 25 0 0 19 76.0 1 4.0 14 56.0 9 36.0 5 20.0 13 52.0 1 4.0 14 56.0 2 8.0 14 56.0 2 8.0 14 56.0 2 8.0 14 56.0 2 8.0 14 56.0 2 8.0 14 56.0 2 8.0 14 56.0 2 8.0 14 56.0 2 8.0 14 56.0 2 8.0 14 56.0 2 8.0 16 64.0 66.0 75.0 4 50.0 2 25.0 4 50.0 3 37.5 4 50.0 1 12.5 5 5 4.1 12.5 5 62.5 MSEd in Counseling 34 0 0 2 55.0 1 4.1 17.7 50.0 1 4.5 5 5 5 14.7 17 50.0 1 4.2 19 79.2 0 0 19 79.2 0 0 <td></td> <td></td> <td>0</td> <td>.0</td> <td></td> <td></td> <td>0</td> <td></td> <td>2</td> <td></td> <td>1</td> <td></td> <td>1</td> <td></td> <td>1</td> <td></td> <td>0</td> <td>.0</td> <td>2</td> <td></td> <td>•</td> <td>.0</td> <td>2</td> <td></td>			0	.0			0		2		1		1		1		0	.0	2		•	.0	2	
Fail 2009 79 0 .0 66 83.5 11 13.9 32 40.5 46 58.2 8 10.1 55 69.6 2 2.5 58 73.4 3 3.8 60 75.9 Fail 2010 EdD in Educational Leadership 8 0 .0 29 85.3 5 14.7 17 50.0 19 55.9 4 50.0 3 37.5 2 4 50.0 11.2.5 5 62.5 2 25.9 4 50.0 11.2.5 5 62.5 2 5.9 4 50.0 1 12.5 5 62.5 2 5.9 4 50.0 1 12.5 2 5 62.5 2 5.9 4 50.0 1 3 3.8 60 75.9 4 50.0 3 37.5 4 50.0 1 12.5 5 62.5 3 75.0 0.0 10 3 75.0 0.0 3 75.0 0.0 3 75.0 0.0 3 75.0 0.0	•	-	0	.0			1		14		9		5		13		1	4.0	14		•	8.0	16	
Fall 2010 EdD in Educational Leadership 8 0 0 7 87.5 0 0 6 75.0 4 50.0 2 25.0 4 50.0 3 37.5 28 82.4 0 .0 28 82.4 MSEd in Counseling 34 0 .0 29 85.3 5 14.7 17 50.0 1 4.52.0 2 5.9 4 50.0 3 37.5 28 82.4 0 .0 28 82.4 0 .0 19 79.2 0 .0 19 79.2 0 .0 3 75.0 0 .0 19 79.2 0 .0 3 75.0 0 .0 19 79.2 0 .0 3 75.0 0 .0 13 75.0 0 .0 13 75.0 0 .0 14 76.3 2 22.0 .0 .3 75.0 0 .0 .3 75.0 0 .0 .3 75.0 0 .0 .3 75.0 .3			0	.0			11				46						2				3			
EdD in Educational Leadership 8 0 .0 7 87.5 0 .0 6 75.0 4 50.0 2 25.0 4 50.0 3 37.5 28 82.4 0 .0 12.5 28 82.4 0 .0 12.5 28 82.4 0 .0 28.8 82.4 0 .0 12.5 28 82.4 0 .0 12.5 28 82.4 0 .0 12.5 28 82.4 0 .0 12.5 28 82.4 0 .0 12.5 28 82.4 0 .0 12.5 28 82.4 0 .0 12.5 28 82.4 0 .0 12.5 28 82.4 0 .0 13 75.0 0 .0 13 75.0 0 .0 13 75.0 0 .0 13 75.0 0 .0 13 75.0 14.3 75.0 14.3 13 75.0 14.3 75.0 14.3 75.0 14.3 75.0 15.0 14.3									•=				•								-			
MSEd in Counseling 34 0 0 29 85.3 5 14.7 17 50.0 19 55.9 4 11.8 26 76.5 2 5.9 28 82.4 0 0.0 28 82.4 MSEd in Educational Administration 24 0 0.0 20 83.3 0 0.0 6 25.0 1 4.2.0 19 75.0 1 4.2.0 19 75.0 0 0.0 3 75.0 0 0.0 3 75.0 0 0.0 3 75.0 0 0.0 3 75.0 0 0.0 3 75.0 0 0.0 3 75.0 0 0.0 3 75.0 0 0.0 3 75.0 0 0.0 3 75.0 0 0.0 3 75.0 0 0.0 0																								
MSEd in Educational Administration 24 0 .0 20 83.3 0 .0 6 25.0 1 4.2 19 79.2 0 .0 19 79.2 0 .0 19 79.2 0 .0 19 79.2 0 .0 19 79.2 0 .0 19 79.2 0 .0 19 79.2 0 .0 13 75.0 0 .0 13 75.0 0 .0 13 75.0 0 .0 13 75.0 0 .0 14 12 52.2 3 13.0 12 52.2 3 13.0 16 69.6 2 8.7 1 4.3 18 78.3 Fail 2010 9 0 0 7 39 41.9 56 60.2 10 10.8 68 73.1 7 7.5 71 76.3 2 2.2 73 78.5 Fail 2010 0 0 7 78.5 0 0 0 0 0 0 0 0	EdD in Educational Leadership	8	0	.0	7	87.5	0	.0	6	75.0	4	50.0	2	25.0	4	50.0	3	37.5	4	50.0	1	12.5	5	62.5
MSEd in Special Education 4 0 .0 2 50.0 1 25.0 2 50.0 3 75.0 0 .0 3 75.0 0 .0 3 75.0 0 .0 3 75.0 0 .0 1 25.0 3 13.0 8 34.8 3 12 52.2 3 13.0 16 69.6 2 8.7 17 73.9 1 4.3 18 78.3 Fall 2010 93 0 .0 76 81.7 9 9.7 39 41.9 56 60.2 10 10.8 68 73.1 7 7.5 71 76.3 2 2.2 73 78.5 Fall 2010 9 9.7 39 41.9 56 60.2 10 10.8 68 73.1 7 7.5 71 76.3 2 2.2 73 78.5 Fall 2010 0 0 0 0 0 0 0 3 50.0 2 33.3 2 33.3 3	MSEd in Counseling	34	0	.0	29	85.3	5	14.7	17	50.0	19	55.9	4	11.8	26	76.5	2	5.9	28	82.4	0	.0	28	82.4
MSEd in Teacher Education 23 0 .0 18 78.3 3 13.0 8 34.8 12 52.2 3 13.0 16 69.6 2 8.7 17 73.9 1 4.3 18 78.3 Fall 2010 93 0 .0 76 81.7 9 9.7 39 41.9 56 60.2 10 10.8 68 73.1 7 7.5 71 76.3 2 2.2 73 78.5 Fall 2011 EdD in Educational Leadership 6 0 .0 5 83.3 0 .0 4 66.7 0 .0 3 50.0 2 33.3 2 33.3 3 50.0 3 50.0 0 .0 3 50.0 3 50.0 0 .0 3 50.0 2 33.3 2 33.3 3 50.0 0 .0 3 50.0 2 33.3 2 33.3 30.0 0 .0 18 48.6 29 78.4 4 10.8 3	MSEd in Educational Administration	24	0	.0	20	83.3	0	.0	6	25.0	18	75.0	1	4.2	19	79.2	0	.0	19	79.2	0	.0	19	79.2
Fail 2010 93 0 .0 76 81.7 9 9.7 39 41.9 56 60.2 10 10.8 68 73.1 7 7.5 71 76.3 2 2.2 73 78.5 Fail 2011 EdD in Educational Leadership 6 0 .0 5 83.3 0 .0 4 66.7 0 .0 3 50.0 2 33.3 2 33.3 3 50.0 0 .0 .0 3 50.0 .0	MSEd in Special Education	4	0	.0	2	50.0	1	25.0	2	50.0	3	75.0	0	.0	3	75.0	0	.0	3	75.0	0	.0	3	75.0
Fall 2011 EdD in Educational Leadership 6 0 .0 5 83.3 0 .0 4 66.7 0 .0 3 50.0 2 33.3 2 33.3 3 50.0 0 .0 3 50.0 .0 .0 3 50.0 <	MSEd in Teacher Education		0	.0	18	78.3	3	13.0	8	34.8	12	52.2	3	13.0	16	69.6	2			73.9	1	4.3	18	
EdD in Educational Leadership 6 0 .0 5 83.3 0 .0 4 66.7 0 .0 3 50.0 0 .0 0 .0 3 50.0 2 33.3 2 33.3 3 50.0 0 .0 3 50.0 0 .0 3 50.0 0 .0 3 50.0 2 33.3 2 33.3 3 50.0 0 .0 3 50.0 0 .0 3 50.0 0 .0 3 50.0 0 .0 3 50.0 0 .0 3 50.0 0 .0 3 50.0 0 .0 3 50.0 0 .0 3 50.0 0 .0 3 50.0 0 .0 3 50.0 0 .0 3 50.0 0 .0 3 50.0 0 .0 3 50.0 0 .0 3 50.0 0 .0 3 50.0 0 .0 3 50.0 0 .0 0 <td>Fall 2010</td> <td>93</td> <td>0</td> <td>.0</td> <td>76</td> <td>81.7</td> <td>9</td> <td>9.7</td> <td>39</td> <td>41.9</td> <td>56</td> <td>60.2</td> <td>10</td> <td>10.8</td> <td>68</td> <td>73.1</td> <td>7</td> <td>7.5</td> <td>71</td> <td>76.3</td> <td>2</td> <td>2.2</td> <td>73</td> <td>78.5</td>	Fall 2010	93	0	.0	76	81.7	9	9.7	39	41.9	56	60.2	10	10.8	68	73.1	7	7.5	71	76.3	2	2.2	73	78.5
EdD in Educational Leadership 6 0 .0 5 83.3 0 .0 4 66.7 0 .0 3 50.0 0 .0 3 50.0 MSEd in Counseling 37 0 .0 34 91.9 0 .0 18 48.6 29 78.4 4 10.8 32 86.5 2 5.4 33 89.2 0 .0 34 91.9 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 6 66.7 0 .0 4																								
MSEd in Counseling 37 0 .0 34 91.9 0 .0 18 48.6 29 78.4 4 10.8 32 86.5 2 5.4 33 89.2 0 .0 34 91.9 MSEd in Educational Administration 3 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 6 66.7 0 .0 6 66.7 0 .0 6 66.7 0 .0 6 66.7 0 .0 .0 6 66.7 0 .0 .0 6 66.7 0 .0 .0 6 66.7 0 .0 .0 6 66.7 .0 .0		6	0	0	5	02.2	0	0	1	66.7	0	0	2	50.0	2	22.2	2	22.2	2	50.0	0	0	2	50.0
MSEd in Educational Administration 3 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 2 66.7 0 .0 0 6 66.7 0 .0 0 0 6 66.7 0 .0 <			0	.0							-								22				24	
MSEd in Special Education 9 0 .0 7 77.8 0 .0 4 44.4 1 11.1 6 66.7 0 .0 6 66.7 MSEd in Special Education 7 0 .0 6 85.7 0 .0 4 44.4 1 11.1 6 66.7 0 .0 6 66.7 MSEd in Teacher Education 7 0 .0 6 85.7 0 .0 2 28.6 2 28.6 3 42.9 1 14.3 4 57.1 0 .0 4 57.1			0	.0			0						-						33			.0	24	
MSEd in Teacher Education 7 0 .0 6 85.7 0 .0 2 28.6 2 28.6 3 42.9 1 14.3 4 57.1 0 .0 4 57.1		-	0	.0			0	-	2				1		6				6		-	.0	6	
		5	0				0	-	4		4		2				1		0		•	.0	1	
		62	0	-			0				37						5		48			0.	49	
		02	v	.0	ντ	07.11	Ľ	.0	00	40.4		00.1	10	10.1		72.0		0.1		11.4	U	.0		10.0
Fall 2012	Fall 2012																							
EdD in Educational Leadership 6 0 .0 6 100.0 0 .0 5 83.3 1 16.7 3 50.0 3 50.0 2 33.3 4 66.7	EdD in Educational Leadership	6	0	.0	6	100.0	0	.0	5	83.3	1	16.7	3	50.0	3	50.0	2	33.3	4	66.7				
MSEd in Counseling 40 0 .0 35 87.5 0 .0 20 50.0 24 60.0 6 15.0 27 67.5 3 7.5 32 80.0	MSEd in Counseling	40	0	.0	35	87.5	0	.0	20			60.0	6		27	67.5	3							
MSEd in Educational Administration 6 0 .0 3 50.0 1 16.7 1 16.7 3 50.0 0 .0 3 50.0 0 .0 3 50.0		6	0	.0			1	16.7	1				0	.0	3		0	.0	3					
MSEd in Special Education 9 0 .0 5 55.6 2 22.2 2 22.2 5 55.6 0 .0 7 77.8 0 .0 7 77.8	MSEd in Special Education	9	0	.0	5		2		2	22.2	5	55.6	0	.0	7		0	.0	7					
MSEd in Teacher Education 11 0 .0 8 72.7 4 36.4 4 36.4 5 45.5 2 18.2 7 63.6 0 .0 8 72.7	•	11	0	.0	8		4		4		5		2	18.2	7		0	.0	8					
Fall 2012 72 0 .0 57 79.2 7 9.7 32 44.4 38 52.8 11 15.3 47 65.3 5 6.9 54 75.0	Fall 2012	72	0	.0	57		7		32		38		11		47		5	6.9	54					

																						& Analytics - 12/13/2017
Entering Term/	Cohort	Degree in	1 Yr	Return 2	nd Yr	Degree in	2 Yrs	Return 3	rd Yr	Degree in	3 Yrs	Return 4	th Yr	Degree in		Return 5	th Yr	Degree in a	5 Yrs	Return 6	h Yr	Degree in 6 Yrs
Program	Total	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	# %
Fall 2013																						
EdD in Educational Leadership	9	0	.0	7	77.8	0	.0	4	44.4	0	.0	5	55.6		22.2							
MSEd in Counseling	28	0	.0	24	85.7	0	.0	11	39.3	19	67.9	4	14.3	21	75.0							
MSEd in Educational Administration	14	0	.0	12	85.7	1	7.1	8	57.1	11	78.6	0	.0	11	78.6							
MSEd in Special Education	9	0	.0	6	66.7	0	.0	3	33.3		33.3	1	11.1	6	66.7							
MSEd in Teacher Education	9	0	.0	5	55.6	0	.0	3	33.3		33.3	1	11.1	3	33.3							
Fall 2013	69	0	.0	54	78.3	1	1.4	29	42.0	36	52.2	11	15.9	43	62.3							
Fall 2014																						
EdD in Educational Leadership	1	0	.0	1	100.0	0	.0	1	100.0	1	100.0											
ME Intervention Services	2	0	.0	2	100.0	2	100.0	0	.0		100.0											
MSEd in Counseling	35	0	.0	34	97.1	0	.0	14	40.0	26	74.3											
MSEd in Educational Administration	4	0	.0	3	75.0	3	75.0	1	25.0	3	75.0											
MSEd in Special Education	7	0	.0	5	71.4	0	.0	1	14.3	4	57.1											
MSEd in Teacher Education	6	0	.0	2	33.3	0	.0	2	33.3	0	.0											
Fall 2014	55	0	.0	47	85.5	5	9.1	19	34.5	36	65.5											
Fall 2015																						
EdD in Educational Leadership	21	0	.0	21	100.0	0	.0															
MSEd in Counseling	30	0	.0	30	100.0	0	.0															
MSEd in Educational Administration	2	0	.0	2	100.0	1	50.0															
MSEd in Special Education	9	0	.0	6	66.7	1	11.1															
MSEd in Teacher Education	11	0	.0	10	90.9	0	.0															
Fall 2015	73	0	.0	69	94.5	2	2.7															
Fall 2016		0																				
EdD in Educational Leadership	6	0	.0																			
MSEd in Counseling	39	0	.0																			
MSEd in Educational Administration	2	0	.0																			
MSEd in Special Education	12	0	.0																			
MSEd in Teacher Education	6	0	.0																			
Fall 2016	65	0	.0																			